MATH 016 CLASSWORK 11 Questions
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[ Run: 07/24/2020 at 16:10 Seed: 6477. Order of Checkable Items: List.]
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Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for plain numbers:
Execute for signed numbers:
Execute for signed numbers:
Execute for signed numbers:
Execute for signed numbers:
Execute for signed numbers:
Execute for signed numbers:
Execute for signed numbers:
Execute for signed numbers:
Execute for signed numbers:

Execute for signed numbers:

Execute —17+5

17+5
38.82 + 83.03
2337 + 50985
13-3
7—15
78.32 — 43.03
42.82 — 83.63
72441 — 52 366
32337 — 57004
17+5—-6+3
17+ 5
38.82 + 83.03
2337+ 50985
17-5
7—15
78.32 — 43.03
42.82 — 83.63
72441 — 52 366
32337 — 57004
17+5-6+4+3
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cwll-45.

Execute —38.82 + 83.03
Execute —2 337 4+ 50985
Execute —17 — 5

Execute —7 — 15

Execute —78.32 — 43.03
Execute —42.82 — 83.63
Execute —72441 — 52 366
Execute —32337 — 57004
Execute 17 +5 — (—6) + 3
Execute —174+5—-643
Execute —17+5 — (—6) + 3
Execute 12.03 — (—6.07)
Execute 12.03 — (—6.07)
Execute —12 — (—3)
Execute 24 x 4

Execute 24 x 3052
Execute 2400 x (+50)
Execute 2.4 x 0.03
Execute 2400 x (—50)
Execute —24 x 4
Execute —0.24 x 4.7
Execute —7 x —15
Execute 0 +4

Execute 0 - —4
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Cw11-57.

Execute 3 +0
Execute —3 +0
Execute 56 = 7
Execute 2.4 - 0.03
Execute 2400 + +50
Execute —24 <-4
Execute —24 = —4
Execute —24 <+ —40
Execute —24 <+ —0.04
Execute —2.4 = —0.04
Execute —2.4 = —40

Execute —2.4 - —0.04



